CINSIZEY

BRI —

R E S

Az mm

ISLLLLES At 3

@75 e M25x0.45
1

B NS ECAE AT AR AT | W] ©
(%'2-6284-4001, 6284-5001% 41)) L
B K5
e TR A 4
6282-2101
B MEEA R
6282-2101 | A SFHREME A4
= NI
ExREAMNL
<INSIZE> PLuS
{2 E $l5S
1z
=] I
6282-2223 | a8
_g M2.5x0.45
w JUSKATRE: 4mm
(mm) (mm) (mm) (mm)
a= a L S a L itk a L 8= a L
6282-2201 30° 15 6282-2211 45° 15 6282-2221 60° 15 6282-2231 90° 15
6282-2202 30° 25 6282-2212 45° 25 6282-2222 60° 25 6282-2232 90° 25
6282-2203 30° 50 6282-2213 | 45° 50 6282-2223 60° 50 6282-2233 | 90° 50
6282-2204 30° 75 6282-2214 45° 75 6282-2224 60° 75 6282-2234 90° 75
6282-2205 30° 100 6282-2215 | 45° 100 6282-2225 60° 100 6282-2235 | 90° 100
6282-2206 30° 125 6282-2216 | 45° 125 6282-2226 60° 125 6282-2236 | 90° 125
6282-2207 30° 150 6282-2217 | 45° 150 6282-2227 60° 150 6282-2237 | 90° 150
6282-2208 30° 175 6282-2218 | 45° 175 6282-2228 60° 175 6282-2238 | 90° 175
6282-2209 30° 200 6282-2219 | 45° 200 6282-2229 60° 200 6282-2239 | 90° 200




SRk

™

<5 it 4‘___,.—.“@ o
{f?%ﬁw*‘ )%W ff?f |

6282-0101 6282-0301 6282-0304

A

(mm)

Ffir: mm Ffir: mm PR mm
BS MEEMRE L L L 7.3
6282-0101 | &4 | 7.3 — EE l !
6282-0103 Wit 7.3 — =
= \zscs A\ — \uzox0ds

25
@5
@5

6282-0104 | f#jfi&4 | 8.3 S@3 S@D M2.5X0.45 2D
6282-0106 | f#f&4: |12.1
6282-0107 | A4 | 14 (mm) (mm) (mm)
62820108 | &4 | 15 Eilkes MEAME SOD L BS WEEMBER SOD
6282-0109 Wy s 15 6282-0119 | fjfis4 | 35 6282-0301 R 1 73 6282-0302 | iS4 | 1.5
6282-0110 | #Fia4 | 17 62820120 | 454 | 35 6282-0307 | fEFia4 | 1 6 6282-0303 | A &4 | 1.8
6282-0111 | MR &4 |19.3 6282-0121 | fH#jfis4: | 40 6282-0308 | )i &4 2 7 6282-0304 | &4 | 25
6282-0112 | Hiia4 | 20 6282-0122 | 4 %A 40 6282-0309 | fEF o4 3 8 6282-0305 | i &4 4
6282-0113 Wy 20 62820123 | THA4 | 45 6282-0310| miA4 | 35 | 85
6282-0114 | WRA4 | 22 62820124 | 441 | 45 6282-0311 | fHFA4 | 4 9
6282-0115 | ftiFa4 | 25 6282-0125 | f#fis4 | 50 6282-0312( a4 | 45 | 95
6282-0116 W 25 62820126 | ZE4 | 50 6282-0313| mjFi&4 | 55 | 10
6282-0117 | A4 | 30 6282-0314| ffjfi&s4 | 6 |10.5
6282-0118 Vel e 30 6282-0315| fEfras | 7 |115
(mm) (mm)
s ME B R L S@D s MEEM R L S@D
6282-3401 AEA 10 1 6282-3421 TR & 4 10 2
6282-3402 ARA 20 1 6282-3422 TR & 4 20 2
6282-3403 AEA 30 1 6282-3423 1R & 4 30 2
6282-3404 A 40 1 6282-3424 5 £ 4 40 2
6282-3405 AEH 50 1 6282-3425 W& 4 50 2
& 6282-3407 6282-3406 AFH 10 2 6282-3426 T < 10 25
6282-3407 AFEA 20 2 6282-3427 T & 4 20 2.5
6282-3408 A 30 2 6282-3428 T 5 4 30 25
4 mm 6282-3409 AEA 40 2 6282-3429 TR & 4 40 25
j@f M2.5X0.45 6282-3410 AER 50 2 6282-3430 TR & 4 50 25
D’T( 6282-3411 R A 4 10 1 6282-3431 T 5 4z 10 3
° 62823412 | WFEAE | 20 1 62823432 | W44 | 20 3
~ 6282-3413 TR & 4 30 1 6282-3433 TR &4 30 3
L 6282-3414 TR & 4 40 1 6282-3434 T 5 4 40 3
6282-3415 R4 4 50 1 6282-3435 TR £ 4 50 3
B 62823416 | Emed | 10 | 15
o0 6282-3417 TR & 4 20 15
6282-3418 Wi & & 30 1.5
6282-3419 R & 4 40 15
6282-3420 3R A 4 50 15




e

ERTHMK

ERIKEN X

“‘?;//}, (mm) & 5 A7 mm
i BS WEEME L W
6282-0202 5 o
6282-0202 e y 8
- 6282-0203 i 10
L e M2.5X0.45
6282-0205 ™ 15 6282-0401 SR7
2 I 6282-0207 i 20
/ \ 6282-0208 i 25 Be MEEHE
SR25 M2.5%0.45 6282-0210 i 30 6282-0401 4
= R AN
= ISk
A7 mm 9 A7 mm
10
2
VIl
\ 5T ses)
5 M2.5X0.45 M2.5X0.45
6282-0601
Az mm
15
8
|
T R | | |
6282-0601 %W 5 P mm M2.5X0.45 \
6282-0701 4N ,
A K
6282-0801 i 4 gl E{] \
— 0.5
6282-0901 N 6282-0701 M2.5X0.45 6282-0901 fos|
= Nl
= 2Tk
. R X
3 ‘-v/ . B
6282-1101 6282-1201 6282-1301
10 A7 mm
L Hofi: mm [:—{— e
L B mm
r8_
H 3 [@D sl [ ]
Q
M2.5X0.45 M2.5X0.45 5
M2.5X0.45
(mm) (mm)
MEAMBE L M= EH R L e MEEH R
6282-1101 | 8 6282-1201 ) 10 | 3 6282-1301 | ML 4
6282-1102 4 10 6282-1202 R 15 | 4
6282-1203 R 20 | 3
6282-1204 i 25 | 4
6282-1205 Y 30 | 4




BRFML

“””T\y/ri mm
5 8 4.5 =, 6 45
[a)]
il l § ] || 6282-3004
6282-2902 AR, M2.5X045\ © Bm _M25X0.45\
(mm)
(mm) o5 - B WEEM R L M @D
e WEEHE X% oD 6282-3001 BTG 5 4 13 | 04 3
6282-2901 TR & 4 A 4 M2.5X049 6282-3002 iR &4 13 0.4 4
6282-2902 WG e 4 A 5 SI 6282-3003 T & 4 13 0.4 5
6282-2903 ey A 6 E ~ o 6282-3004 (O d5iEss 13 0.4 6
6282.2004 | WEase | A | 8 o ¢ 62823005 | @E&E | 16 | 1 6
6282-2905 TH)F & 4 A 10 - = 6282-3006 TR £ 4 33 | 04 6
6282-2906 TR A B 12 i 6282-3007 TR A 13 | 04 8
6282-2907 TR B 15 6282-3008 R 13 | 04 10
EREML ER/NEEONL
A mm
ﬂ
M2.5X0.45
L 7 -
8 [ ] 6282-3303 JL o
6282-1711 m
RS 2D TEEM R L
6282-3301 | 05 TR 4 3
(mm) (mm) 6282-3302 | 0.5 TR A4 5
Eili=s MEEMBKE D L =] MEEME 0D L 6282-3303 0.5 g T A i 10
6282-1701 i 045 | 3 62821718 | ®Wma4 | 1 | 50 6282-3304 | 0.6 R 4 10
6282-1702 Y 045 | 5 6282-1719 | fji&4 | 1.5 | 50 6282-3305 | 0.7 TR A 10
62821703 | W44 1 | 3 6282-1720 | M4 4 | 2 | 50 6282-3306 | 0.8 R 54 10
6282-1704 | TFE 44 1 5 6282-1721 Ve 1 |10 6282-3307 | 0.9 B £ 4 10
6282-1705 | ff &4 1 8 62821722 R 1 | 20 6282-3308 | 1.2 B & 10
62821706 | 44 1 |10 6282-1723 Wl s 15 | 10 6282-3309 | 05 R £ 4 15
62821707 | fHf A4 1 20 6282-1724 f % 15 | 20 6282-3310 0.6 T & 4 15
62821708 | FHi A4 1 40 6282-1725 Fa% 15 | 30 6282-3311 0.7 TR & 4> 15
62821709 | A4 | 15 | 5 6282-1726 Vo5 15 | 40 6282-3312 | 0.8 R 5 4 15
6282-1710 | R4 4 | 1.5 | 10 6282-1727 Wi 15 | 50 6282-3313 | 0.9 R £ 4 15
62821711 | R4 4E | 15 | 13 6282-1728 Wz 2 | 10 6282-3314 | 1.2 R £ 4 15
6282-1712 | fifiad | 15 | 20 6282-1729 Bz 2 | 20 6282-3315 | 0.5 R 4 20
62821713 | MEi4ad | 15 | 40 6282-1730 Bl s 2 | 30 6282-3316 | 0.6 R 5 4 20
62821714 | &4 2 8 6282-1731 % 2 40 6282-3317 0.7 T & 4 20
6282-1715 | R4 4 2 |18 62821732 W% 2 | 50 6282-3318 | 0.8 R £ 4 20
6282-1716 | TEFR 44 2 | 28 6282-3319 | 0.9 R &4 20
62821717 | @FE &4 2 |40 6282-3320 | 1.2 TR 4 20




FLfi: mm
L1 4

::D

6282-1601 FA£(SR) S‘ M2.5X0.45\

|

(mm) (mm)
= & TE 1 R L1 ad SR S MEEH R L1 @d SR
6282-1611 | 7 2 0.15 6282-1623 Tl A 4 13 2 0.2
6282-1612 G 13 2 0.15 6282-1624 T 5 462 22 2 0.2
6282-1613 A 22 2 0.15 6282-1625 T8 7 A 30 2 0.2
6282-1614 A 30 2 0.15 6282-1626 T A 4 40 2 0.2
6282-1615 A 40 2 0.15 6282-1627 Tl 7 4 50 2 0.2
6282-1602 A 13 2 0.2 6282-1628 Tl 5 £ 4 13 2 0.35
6282-1616 4 50 2 0.2 6282-1629 & 22 2 0.35
6282-1617 4 13 2 0.3 6282-1630 TR A 30 2 0.35
6282-1618 Gl 17 2 0.3 6282-1631 TR & 40 2 0.35
6282-1619 A 22 2 0.3 6282-1632 TR A4 50 2 0.35
6282-1620 Gl 30 2 0.3
6282-1621 A 40 2 0.3
6282-1601 Gl 11 2 0.4
6282-1603 Gl 21 3 0.4
6282-1604 A 31 3 0.4
6282-1622 4 50 2 0.4

=370k

8 HA7: mm

s WEEH R <

6282-1001 B 6282-1001 15 \M2.5X0.45

ERFHMK

10 BAL mm

b5 M2.5X0.45

(mm)

MEEMER D

6282-1801 i 04| 2
6282-1802 06 | 2 z

o 6282-1801 L
6282-1803 i 1 4



ERREM kL
) AL mm
' ‘ M2.5X0.45

6282-1901 f B
=S M E B R S s
6282-1901 Cl .
= J NS Z
= M SLIECHF
(mm) (mm)
S #BR L @d 8BS MR L ad
62822001 | 4 | 10 | 4 6282-2013 | 44 | 70 4
62822002 | 44 | 15 | 4 6282-2014 | # | 75 4
6282-2003 | 47 | 20 | 4 6282-2015 | 41 | 80 4
6282-2004 | 4 | 25 | 4 6282-2016 | 41 | 90 4
6282-2005 | 49 | 30 | 4 6282-2017 | 4% | 100 | 4 6282-2010
6282-2006 | 44 | 35 | 4 6282-2021| 49 | 150 | 5
6282-2007 | 41 | 40 | 4 6282-2022 | 4 | 200 | 5
6282-2008 | 41 | 45 | 4 6282-2023 | 4 | 300 | 5
6282-2009 | 49 | 50 | 4 Y-
6282-2010 | 4N 55) 4 M2.5x0.45 M2.5x0.45
62822011 | 4 | 60 | 4 g [E;
6282-2012 | 41 | 65 | 4 C | s
= Nl dx
=ERNMLEE
HBA7: mm
10 15
‘ 8 11
%{ ) g |- 8 ——F0
o M2.5X0.45\ i1 M2.5X0.45 \ SR0.4 M2.5X0.45\
Pl Tk SHMsk
5
6282-S6 10 2
o ) K 1 0 / I
S ( NVAN S AL
= NEEME SRY SR2.5 M2.5><0.4EX SR25 M2.5><0.45\

M2.5X0.45
TREM FRIMK RISk

6282-S6 G|



BRI Kk

= PRI R A A G
m ERSL ELARRE S +3um

=\
i

6282-3101

HUAL: mm
a4
ﬁ M2.5X0.45
n
<
J‘li
-

S@D

6282-3206

2= S@D
6282-3101 1
6282-3102 15
6282-3103 2
6282-3104 25
6282-3105 3
6282-3106 35
6282-3107 4
6282-3108 45
6282-3109 5
6282-3110 55
6282-3111 6
6282-3112 6.5

Lf: mm

M2.5X0.45

©
<

on

S@D

25

(mm)

12
12
12
12
12
12
12
12
12
12
12
12

B

6282-3113
6282-3114
6282-3115
6282-3116
6282-3117
6282-3118
6282-3119
6282-3120
6282-3121
6282-3122
6282-3123
6282-3124

BS

6282-3201
6282-3202
6282-3203
6282-3204
6282-3205
6282-3206
6282-3207
6282-3208
6282-3209
6282-3210
6282-3211
6282-3212

S@D

1.5

2.5

3.5

4.5

5.5

6.5

S@D

8.5

9.5
10

10.5
11
12
13
14

(mm)

20
20
20
20
20
20
20
20
20
20
20
20

(mm)

20
20
20
20
20
20
20
20
20
20
20
20

S

6282-3125
6282-3126
6282-3127
6282-3128
6282-3129
6282-3130
6282-3131
6282-3132
6282-3133
6282-3134
6282-3135
6282-3136

S

6282-3213
6282-3214
6282-3215
6282-3216
6282-3217
6282-3218
6282-3219
6282-3220
6282-3221
6282-3222
6282-3223
6282-3224

S@D

1.5

2.5

3.5

4.5

5.5

685

S@D

5

8.5

9.5
10

10.5
11
12
13
14

(mm)

30
30
30
30
30
30
30
30
30
30
30
30

(mm)

30
30
30
30
30
30
30
30
30
30
30
30



